6-labeling of Cross X (d 1)

6-labeling of Cross X (d)

d1=0(mod3),d;>3 d,=1(mod3),d; >4
31 5 3 1 46 6 1 3 52 0 53
042 05 20 046 04620
d,= 0(mod3),d>3 d>=2(mod3),d,>5
351 3 516 6 2 4.6 0 4 6 1
02 4 0 2 40 0 513 51 3 5

d,=2(mod3),d,>5

36 03 6 41 6 6 2 0 41 6 4 1
04 2 5 0 2 5 0 04 6 2 5 0 2 5
d:=2 (mod3),d,>2 d,=2 (mod3),d,>2

2 4.6 1 4 6 6 05 3 0 2

2 03 5 0 6 6 41 6 4 2
d,=4 d,=1(mod3),d,>4
36 0 3 6 6 2 0 5/3 1 5 3
04 2 5 0 04 6 2.0 4 2 0
di=2 d,=0(mod3),d,>3

2 4 6 6 3 0 2 5 0 2
2 0 5 51 4 6 1 4 2
d1=2 d,=1(mod3),d,>4

1 4 6 6 13 6 1 3 6 1
2 0 3 350 2 5 0 4 2




